DIVISION WITH A REMAINDER (H - SET 3)

DIVISION WITH REMAINDER Name:
Time: Score: J_
331 42899 + 8 = 316) 2091 +4 =
332) 12419 =2 = 11 4518 +5H =
333) 2963 = 2 = s) 11400 = 2 =
33 29436 + 4 = 319) 34925 -4 =
339 821 +1 = 3500 57839 +9 =
336) 47415 + 5 = 1) 729 =1 =
331 29201 +6 = 352) 61516 =7 =
338) 79856 + 10 = 353 16024 + 2 =
339 39645 + 9 = 354) 37873+ 7 =
310 51973 =8 = 355) 6918 + 2 =
s 30004 =5 = 356) 37709 =5 =
312) H8B36 + 9 = 357 48063 =+ 6 =
313) 7301 =4 = 358) 11246 — 2 =
s 20021 +7 = 359 H1o7T +1 =
315) 33034 =— 6 = 360) 51242 =8 =
Mathematics: Division - Level 7 - Horizontal - Set 3 13 uluy
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